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&1 WMEH - TRELVYBREH &R, BeT - RERTHI
Eitxigk - 2023468
=R 2R 7JI=E~/7E§% 'Ii%%/\;%/‘\%zﬁrﬂw fEavUO—v R
WEH |TaH-U| REH |ERA-Y| BEH TSRSV BEH TLREELY
<18 147 2.16 35 0.51 53 0.78 51 0.75
FEE™ 51 1.89 15 0.56 19 0.70 16 0.59
JI&TH 41 3.42 6 0.50 14 1.17 8 0.67
RS 8 1.60 2 0.40 3 0.60 2 0.40
=]
R mmﬁl';; SRR ER O Al 1.96 12 0.50 17 0.71 25 1.04
HEE™ 3 1.00 1 0.33 3 1.00 2 0.67
BRR™ 23 5.75 2 0.50 2 0.50 10 2.50
EXod 1] 2 1.00 1 0.50 - - 1 0.50
Eix 8 4.00 2 1.00 6 3.00 7 3.50
5 EHtUA— 1] 0.50 1] 0.50 - - -
#AE 2| 1.00 - - - - -
BE Bt A—
INER - - 1 0.50 4 2.00 -
MAR EBEWHEtEUA2— - - 1 1.00 - - -
EX 6 1.50 1 0.25 1 0.25 5 1.25
BEX Xfto2— 2 1.00 2 1.00 1 0.50 -
AFO)UTHER | R UMK | ZEFT K R KL
sz )| 18 JEYRERRE | REERE =
WEW (EaSfY| HEHR ERHY| BEKR EREY
<18 20 2.00 1 0.10 1 0.10
HET ) 3.50 1 0.50 1 0.50
JI&TH 4 2.00 - - - -
&R - - - - - :
=]
(T, . BRERER <) 1.80 - - - -
HAEM 2.00 - _ _ _
BRiR™ 5 5.00 - - - -
ET T
iR 1 1.00 - - - -
TiE EHtEUA4—
Ha
HE =Bt 42—
/NER
MARE Bt 42— - - - - - -
EX 1 1.00 - - - -
BEX Xt 42—




x2 WMEH - EALA-YHREH. F& - HBFEA. MRl (BEH. JIEGH., BEEERTmERLS) (F0 1)
SR - 2023468
E B % TR EH =&t 0 T~4 5~9 10~14 15~19 20~24 25~29 30~34
wu | BER 2871 1 - - 6 254 876 668 388
FEhNT- Y 2901 0.00 - - 0.01 0.26 0.89 0.68 0.39
=N MEHK 1408 - - - 3 81 340 309 212
= EHNTY 1.43 - - - 0.00 0.08 0.34 0.31 0.22
) % WK 1463 i - - 3 173 536 359 176
MBS I DT EENETY 1,48 0.00 = = 0.00 0.18 0.54 0.36 0.18
P sy | BER 47 - - - = 3 16 11 7
EEET-Y 1.96 = = = = 0.13 0.67 0.46 0.29
8 My WEHK 28 - - - - i 8 6 )
4 EELT-Y 117 - - - - 0.04 0.33 0.25 0.17
% MEHK 19 - - - - 2 8 5 3
EhNT-Y 0.79 - - - - 0.08 0.33 0.21 0.13
sy | BEH 835 - - - - 30 101 128 100
EELETY 0.85 - - - = 0.03 0.10 0.13 0.10
2 Mg WEHK 325 - - - - 4 28 49 42
5 FEaLT Y 0.33 = = = = 0.00 0.03 0.05 0.04
% WEHK 510 - - - - 26 73 79 58
PEBEAJLRZ YA EHT- Y 0.52 - - - - 0.03 0.07 0.08 0.06
JU R B GE s |EH 12 - - - - 2 1 -
EELf-Y 0.50 - - - - 0.08 0.04 -
A WE 7 - - - - i - -
18 EANTY 0.29 - - - - 0.04 - =
% WK 5 - - - = i i -
EEET-Y 0.21 = = = = 0.04 0.04 =
o | BEH 610 - - - - 28 112 111 88
EHLT Y 0.62 - - - - 0.03 0.11 0.11 0.09
e 3 WEHK 403 - - - - 6 49 76 56
= EELT-Y 0. 41 - - - - 0.01 0.05 0.08 0.06
% iﬁ‘%%‘ 207 - - - - 22 63 35 32
O EaLt Y 0.21 - - - - 0.02 0.06 0.04 0.03
REAZIO-X o | HER 17 - - - - ? 3 ?
EEET-Y 0.71 = = = = 0.08 0.13 0.08
8 My WEHK 15 - - - = i 3 2
4 FELf-Y 0.63 - = - - 0.04 0.13 0.08
% MEHK 2 - - - - i - -
EELf-Y 0.08 - - - - 0.04 - =
P MEHK 775 - - - 2 68 218 136 91
EHNTY 0.79 - - - 0.00 0.07 0.22 0.14 0.09
2 Mg WK 569 - - - - 28 150 99 67
5 FEat Y 0.58 = = = = 0.03 0.15 0.10 0.07
% WEHK 023? - - - ; 03 40 68 37 24
s FEaNT Y . - - - . 0.04 0.07 0.04 0.02
HEIRBRE w |mEHK 25 - - - - 2 Ji 5 1
EELf-Y 1.04 - - - - 0.08 0.29 0. 21 0.04
A WEH 18 - - - - 5 2 i
18 EHNTY 0.75 - - - - 0. 21 0.08 0.04
% WK 7 - - - = 2 2 3 -
EEETY 0.29 = = = = 0.08 0.08 0.13 =
am | BER 1213 38 37 17 9 5 10 13 18
FEaLT Y 2.55 0.08 0.08 0.04 0.02 0.01 0.02 0.03 0.04
¢ Mg MEHK 738 23 20 12 6 2 3 7 7
= EaLf-Y 1.55 0.05 0.04 0.03 0. 01 0.00 0.01 0.01 0.01
" MEHK 475 15 17 5 3 3 7 6 i
g;ﬁé%g%i X Egig Y 1. 08 0.03 0.04 0. 0} 0.01 0.01 0.01 0.01 0.02
i w EANTY 1.80 = = 0.20 = - -
R Mgy WEHK 6 - - i - = =
4 FEaT Y 1.20 = = 0.20 = = =
% WEHK 3 - - - = - -
EhT- Y 0.60 - - = - = =
P MEHK 95 8 35 7 i - 4
EAHNT-Y 0.20 0.02 0.07 0.01 0.00 - 0.01
2 Mg WK 4 3 14 i - - 2
= EEETY 0.09 0.01 0.03 0.00 = - 0.00
% WEK 54 5 21 3 i - 2
R=2 ) VR EEETY 0.11 0.01 0.04 0.01 0.00 = 0.00
R ERE R LAE 4 MEH - - - - - -
" Eant-Y - - - - - =
2Ty MEHK = - - - = -
1 EhNT-Y - - - - - -
% WE - - - - = -
EAHNTY - - - - = =
o WEK i - - - - i -
EEETY 0.02 = = = = 0.00 =
2 Mg WEHK 9 - - - = i -
S EELT-Y 0.02 - - - - 0.00 -
% MEHK 2 - - - - - -
222 ) T e ok e TR R EsNY 0.00 - - - - - -
P P WE - - - = - -
EAHNTY - - - - - -
B My WK - - = - - -
18 FEat Y - - - - - -
WEHK - - - - = -
X | Fmury - - - - = -




x2 HEH-TRSYSREH. T - BRA. MR GEET. JEH., EERTERLS) (F02)
E5H51% . 202346
E B & Ea | & B 35~30 | 40~44 | 45~49 | 50~54 | 55~50 | 60~64 | 65~69 | 705~
at |__HBEH 247 142 151 72 38 21 7 5
R [ EEmry 0.25 0,14 0.15 0.07 0.04 0.02 0,01 0,01
e - HER i 93 112 50 3% 17 6 1
= Eauty 0.15 0.09 0. 11 0.05 0.03 0.02 0.01 0.00
= HER 95 49 39 22 4 4 1 1
HRISISTR EastY 0.10 0.05 0.04 0.02 0.00 0.00 0.00 0.00
FIE w |mEHK 2 3 3 - 2 - - -
R [ Emwry 0.08 0.13 0.13 = 0.08 = = =
AR HER ? 3 ? = 2 = = -
15 EastY 0.08 0.13 0.08 = 0.08 - - .
= HER = = 1 = - = = -
EaESTY = = 0.04 = - - - .
e | HEH 04 99 60 7 50 76 29 27
R [ Emury 0.10 0.10 0.06 0.07 0.05 0.03 0.03 0.05
e - HER 37 29 24 26 25 9 12 20
ANy 0.04 0.05 0.02 0.03 0.03 0.01 0,01 0.02
= HER 57 50 36 45 25 17 17 27
HEALRRY A Emuty 0.06 0.05 0.04 0.05 0.03 0.02 0.02 0.03
JU R BEEGE 1wy REK 1 1 1 3 - 1 1 1
R [ Emury 0.04 0.04 0.04 0.13 - 0.04 0.04 0.04
AR HER 1 1 1 2 - 1 = -
) ERstY 0.04 0.04 0.04 0.08 - 0.04 = -
= HER = = = T = = T 1
ERSTY = = - 0.04 - = 0.04 0.04
iy | HEH 58 58 54 4 76 12 5 15
W [ EEmry 0.06 0.06 0.05 0.04 0.03 0.01 001 0.02
2 g HER 38 46 45 35 2 13 5 13
= Emuty 0.04 0.05 0.05 0.04 0.02 0.01 0,01 0,01
= HER ! go 1% ? 6 5 1 = 2
e s ERstY 02 0.0 0.0 0,01 0,01 0.00 = 0.00
KEIvA—X o5 Ty 9 3 3 — 5 — — —
R [ E ety 0.08 0.13 0.13 = 0.08 = = =
A HER 9 3 3 = 1 = = -
) EastY 0.08 0.13 0.13 = 0.04 = = .
= HER = = = = 1 = = =
EASTY - - = = 0.04 - - .
| BEH 78 58 59 35 20 7 3 -
R [ Emury 0.08 0.06 0.06 0.04 0.02 0.01 0.00 -
e - HER 67 52 53 29 16 6 2 =
= ANy 0.07 0.05 0.05 0.03 0.02 0.01 0.00 -
X | gaip 001 ool oo oo 000 : : .
N D . . . . . 0.00 0.00 -
B RAE o | HEE = 3 7 2 1 = = =
[ Emmry = 0.13 0.17 0.08 0.04 - - .
A HER = 3 4 2 1 = = -
) EastY = 0.13 0.17 0.08 0.04 - - .
= HER = = = = = = = =
ERstY = = = = = - - -
x| HEH 17 14 15 37 38 51 80 814
il T ET2D 0.04 0.03 0.03 0.08 0.08 0. 11 0.17 1.71
3 - HER 8 5 6 97 30 33 58 291
= Ea%tY 0.02 0.01 0,01 0.06 0.06 0.07 0.12 1,03
R HER 9 9 9 10 8 18 22 323
%;ﬁé%mﬂ%i = igigu 0. 0% 0.02 0.02 0. 0% 0.02 0.04 0, 0&]3 0, 62
3 BE | srury 0.20 = - 0.20 - = 0.20 1,00
B g HER = = = T = = = 4
) EASTY = = - 0.20 - = = 0. 80
= HER T = = = = = T 1
D 0.20 = = = . = 0.20 0.20
wy | BEH 9 3 = = 1 T 6 30
R [ Emury 0.00 0,01 = = 0.00 0.00 0.01 0.06
e - HER 2 1 = = = = 3 14
= ANy 0.00 0.00 - = - - 0.01 0.03
= HER = 2 = = 1 T 2 16
=1 TR ERsTY = 0.00 = = 0.00 0.00 0.00 0.03
ABRBRERE e | BER = = - - = - = =
W [ Emmry = = = = = - = .
AR HER = = = = = = = =
15 Emuty - = - = - = = =
HER = = = = - = = =
X [ Fmury - - - = - = = =
e | HEH = T = T = = 7 6
il Tt = 0.00 = 0.00 - = 0.00 0.01
3 - HER = 1 = 1 = = 2 4
= D = 0.00 = 0.00 - - 0.00 0,01
N = HER = = = = = = = 2
EHITE R EaufY - = = = - = = 0.00
ZE g |EH - - - - - - - -
R Emury - - - = - = = =
A HER = = = = = = = =
) ERstY = = = = - - - -
= HER = = = = = = = =
EastY = = = = = = = .




£33 WEH - ER/RILYMEHR. A - KRB R (D 1)
KR . 2023F6AFETDI24 A

R 5B 42 otz B 18 8H 9A 108 | 11A | 128 18 28 38 48 58 68
s | HEHK 2,607 | 2,519 | 2,548 | 2,701 | 2,614 | 2,334 | 2,456 | 2,380 | 2,603 | 2,512 | 2,708 | 2,871

B | ess-y | 265 257 | 2.60 | 2.75 | 2.67| 2.38| 2.51 | 242 | 2.66| 2.57| 2.76 | 2.9

s | HEHK 143 171 148 138 135 122 148 134 144 157 152 | 147

R wmur-y| 2210 255 221 216 | 2211 | 1.79 | 221 | 200| 209 | 231 ] 230 | 216

B | WMEH 63 56 61 45 45 45 54 46 45 58 45 47

| wmmt-y | 263 233 254 1.88| 1.88| 1.8 | 2.25| 1.92| 1.88| 2.42| 1.8 | 1.9

’% iL:'E 45 5 46 39 42 33 35 34 31 33 34 44 34 28
my | e | EaAutzY | 192 1.63| 1.75| 1.38 | 1.46 | 1.42| 1.29| 1.38| 1.42| 1.83| 1.42| 1.17
;”“I'.EZ i; 45 H 17 17 19 12 10 11 23 13 11 14 11 19
S|l x| Esst=y | 071 071 | 079 050 | 042 | 0.46| 0.96| 0.54| 0.46 | 0.58| 0.46  0.79
7 | BEN 55 59 53 49 47 44 37 49 49 48 64 51
ol mmmry | 204 227 204 213 204 1.63| 1.42| 1.88| 1.75| 1.78| 2.56 | 1.89

i R 20 47 31 40 39 28 51 34 49 48 39 41

? EaL4f-Y | 1.67 | 3.92| 258 3.33| 3.25| 233 | 4.25| 2.83| 4.08| 4.00| 3.25| 3.42

B mEH 5 9 3 4 4 5 6 5 1 3 4 8

| EA%f-Y | 1.00| 1.80 | 0.60| 0.8 | 0.80 | 1.00| 1.20| 1.00| 0.20 | 0.60 | 0.80  1.60

o | HEHK 765 752 672 736 699 663 694 670 818 758 798 | 835

B ws%4-y| 078 077 069 | 075 071 | 0.68| 0.71 | 0.68| 0.84| 0.78| 0.81 | 0.85

e | HEHK 32 30 35 45 40 25 34 31 37 34 43 35

R wmut-y| 047] 04| 052| 070] 0.63] 037| 051 046 | 054| 0.50| 065/ 0.5

|| HWEH 16 15 16 24 18 11 10 11 12 9 6 12

| wmmt-y | 067] 063| 067] 1.00| 0.75| 0.46| 0.42| 0.46| 050 | 038 | 0.25] 0.50
3'& § & 5 11 8 11 17 8 6 5 4 6 6 4 7
»ig @ | sty | 046 0.33] 046 0.71| 0.33| 0.25| 021 017 0.25| 0.25| 0.17 | 0.29
oy I 5 7 5 7 10 5 5 7 6 3 2 5
,J.;; o | ALY [ 021 020 021 029 042 021 | 021 | 0.29| 0.25| 0.13| 0.08| 0.21
i B BER 9 10 10 13 14 9 14 11 16 16 19 15
| #mm=y | 033 03| 03| 057 061 | 033| 054| 042| 057 | 05 | 076 0.56

N s 6 4 8 8 7 5 10 7 9 8 15 6

ﬁ EaA%4f-Y | 050 033 | 0.67  0.67| 05| 042 | 0.8 | 05| 075 0.67| 1.25/| 0.50

LB mEHR 1 1 1 - 1 - - 2 - 1 3 2

| EA&-Y | 020 0.20 | 0.20 - 0.20 - -| 0.40 -| 0.20| 0.60 | 0.40

o | BWEHK 518 552 502 517 580 483 500 526 577 562 610 | 610

B | esut-y | 053 056| 051 | 053] 059| 049 | 051 | 054| 05 | 05| 062 062

e | WEHK 39 45 40 31 37 24 30 38 45 39 38 53

R emut-y| 057] 067] 060| 048] 058| 035| 0.45| 057 | 0.65| 0.57| 058/ 0.78

B | WEH 16 11 13 8 12 10 13 15 21 13 7 17

g | ®| EAs=yY | 067 046 054 033 050| 042| 054| 063] 08 | 054 029 0.71
£ |8 smax 13 10 11 6 12 8 10 12 18 11 7 15
i % Ea%-Y | 054 0.42| 046 0.25| 050 | 0.33| 0.42| 050| 0.75| 0.46 | 0.29 | 0.63
TR #EH 3 1 2 2 - 2 3 3 3 2 - 2
'f' iﬁ EA%Y | 013 0.04 | 0.08 | 0.08 -| 008| 013] 013 0.13| 0.08 -| 0.08
¥ | ' #REHR 10 18 13 6 15 6 8 11 10 8 13 19
m | EmL-yY | 037 069 050 0.26| 065, 0.22| 031 | 0.42| 03| 03| 052 070

i'% 25 % 11 14 12 17 7 7 8 11 11 13 13 14

| Aty | 092 1.17| 1.00| 1.42 058 | 05 | 0.67| 092| 092| 1.08| 1.08 | 1.17

LB mER 2 2 2 - 3 1 1 1 3 5 5 3

B Ea%t-Y | 0.40 | 0.40 | 0.40 -| 060] 020 020| 020| 060] 1.00] 1.00 | 0.60

o | HBEHK 912 837 834 903 833 755 843 691 857 773 831 775

B | &4y | 093 | 08 | 085 | 092| 0.8 | 077 | 0.8 | 0.70| 0.8 | 0.79 | 0.85| 0.79

o | HEHK 57 70 71 56 48 45 43 37 47 71 71 51

R emut-y| 08| 104 1.06| 0.8 | 075| 0.66| 0.64 | 055| 0.68| 1.04| 1.08 /| 0.75

e | HmEH 27 30 29 14 20 16 17 16 17 39 34 25

B wsst-y | 113 1.25| 1.21| 058 | 0.83| 0.67| 0.71 | 0.67| 0.71 | 1.63| 1.42 1.04

o ';R #2550 25 26 28 14 18 14 17 14 16 33 32 18
e | Ess-y | 104 108 1.17 | 058| 0.75| 058 | 071 | 05| 067 | 13| 1.33| 0.75
= HEEET 2 4 1 - 2 2 - 2 1 6 2 7
E | %« | EAHs=y | 008 ] 017 | 0.04 -/ 0.08 | 0.08 -| 0.08| 004| 025/ 008/ 0.29
) ®EH 25 24 26 28 18 19 17 16 15 15 25 16

m | EmLyY | 093] 092 100 1.22| 078 0.70| 0.65| 0.62| 0.54| 0.5 | 1.00| 0.59

N s 5 13 14 11 10 8 9 4 14 15 12 8

ﬁ Ta%4-yY | 042 | 108 1.17] 092 0.8 | 067| 075| 033| 1.17| 1.25| 1.00 | 0.67

B mEH - 3 2 3 - 2 - 1 1 2 - 2

B EASY - 0.60 | 0.40 | 0.60 -l 0.40 -| 0.20] 0.20| 0.40 -| 0.40




K3 HEH - ERILYBRSEH. B - HRA. EH (FD2)
EEtni% . 202356 ETNI2S A
i 2B 2 7A | 8F | 98 [ 108 | 11A | 128 | 1A | 28 | 38 | 48 | 58 | 6H
o | @& | 1,158 | 1,244 | 1,274 | 1,225 | 1,225 | 1,210 | 1,457 | 1,209 | 1,207 | 1,012 | 1,210 | 1,213
= | emury | 243 261 268 258 | 257 254| 305 25| 25 | 214| 254| 255
2| HBEH 15 14 28 16 21 12 6 22 31 9 17] 20
R mmury| 150 140 28 160 245 120 160 220 28| 090 | 1.8 | 200
s |R| BEH 13 10 19 9 9 7 8 8 10 4 8 9
@ | %[ ®msry | 260 200 38 | 180 18 | 140 160| 160] 200] 08 | 1.60 180
z;‘;»;n BER 6 7 13 5 7 5 4 5 8 3 6 6
oY |B| Aty | 120 | 140 260 100 1.40| 1.00| 080 | 1.00| 1.60| 0.60| 1.20] 1.0
,i; M 7 3 6 4 2 2 4 3 2 1 2 3
m & | Emcy | 140 060 | 1.20 | 0.80 | 0.40 | 0.40 | 0.80 | 0.60 | 0.40 | 0.20 | 0.40 | 0.60
NI i i 1 3| 1 2 3 L 4 2] 7
B | %|®sury| 050 050| 050| 150 | 467 1.00| 150 | 200| 567 | 200 200 3.50
M 1 2 3 3 3 3 4 6 3 1 4 4
S| =amry| o0s0| 100 150 1.5 | 1.50| 1.50 | 2.00| 3.00| 1.5 | 050 200 2 00
EIECE - 1 5 1 1 - 1 4 1 - 3 -
AT - 1.00] 500 1.00] 1.00 - 100 400 1.00 -l 3.00 -
2| BEH 60 53 46 79 89 82 1 70 61 57] 116 | 95
= | emury | 013 o1 o010 017 019 07| o015 015] 013 | 012 0.24] 020
2| BEH 2 5 1 1 2 1 1 1 - 1 2 1
R | wmurzy| 020 o050 o10] o010 018 010] 010] o0.10 - 010 022] 010
B | #®EH 1 4 1 - 1 1 1 - 1 2 -
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